Start with the ANSWER PASSED TO YOU.

. Reduce to the first, fourth, and fifth words of the answer.

2. Move the second and third letters to the end.

3. Swap the first and second letters.

4. Say what, Santa? Take a syllable Santa is famous for saying and replace it with SE.
5. Replace the first letter with the letter that immediately follows it in the alphabet.

6. Replace the fourth letter with the letter four in front of it in the alphabet. (Loop around from
Z to A if necessary.)

7. Replace the third letter with a T.

8. Add a space after the third letter and pass back a two word phrase.



Convert to ANSWER PASSED TO YOU.
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Take the ANSWER PASSED TO YOU and black out the first appearance of each letter, reading row
by row, left to right, top to bottom. If the letter appears twice in the ANSWER PASSED BACK TO
YOU, black out the first two occurrences of that letter.

Solve the grid as a Light Up puzzle by placing lightbulbs (¥) satisfying the following constraints:

Every non-blacked out square must be lit.
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directly between them.

A number in a square indicates how many bulbs share an edge (not diagonally) with that
square.

No bulb may light another bulb.
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123456789 = ANSWER PASSED BACK TO YOU
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